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Chapter 5 (Sections 5.3 — 5.5)
1. Find all solutions for the variable in the interval [0, 27).

a.) 2sin’ x+3cosx—3=0 corx= c.) 3tan’ x—tanx =0
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3. Write the expression as the sine, cosine, or tangent of an angle.
a.) cos60° cosl0" —sin60"sinl0° — ~o ¢ (LO'+ /O7) = Cosr 70

152 -tand7?  _ ta~ (/525977) = tan 105°

b, 1+tan152" tan 47"
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4. Verify each identity.
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Chapter 6

In 5 - 7, solve the triangle for all angles and sides. If two solutions exist, find both.

5. ¢=13,b=8,B=31° 6. A=55°b=12,c=17

7. A=33°,B=170°b=7
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[ns 9, find the area of the triangle to the nearest tenth. - 70 o
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thapter 9

In 10 - 12, write the equation in standard form and then classify the graph as a parabola, circle, ellipse, or

hyperbola. p,“:_ P‘I;r“bl}bﬂ\
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13. Find the vertex, axis of symmetry, focus, and directrix of the para parabola and sketch its graph.
:p' [x+EJ =4[y—1)
B =
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14. Identify the conic as a circle or ellipse. Then find the center and radius (if it’s a circle); find the center,

vertices, co-vertices, and foci (if it’s an ellipse). Sketch its graph.

12346872

9x2 +4y? +36x—24y+36=0 Ellipr €
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16. Write the equation of a circle that has a center at (-1, 3) and passes through the point (-5, 6).
A E1+5)™(3-¢)° [ Ccr0)? # (y-3)%25

Set[uences A Sy et SRS AR SRS e g . = i

In 17 - 18, write the explicit formula for each sequence.

17.-3,-6,-12,-24, 43, ... 18. -4,-14, -24, -34, 44, ...

(& = —séart) . [Gn==A ~10Cr-1 Y
19."Find s ifyou know that S, = 59,046 in the series 6 + 18+ 54+ 162... g, = ¢ 3"
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20. Evaluate ;(20—!12) = 20+19¢)G ¢ 11+ 4+ (-5) = @5“ /9683 = 5"

n= 0gs 19643
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In 22 - 23, find each term described.
22. 2* term in expansion of ‘x +3)} 23. 4" term in expansion of (3u — 1)*

(?)(x)‘“(%)l s C;f)(zu)‘(_,,)} :@
In 24 - 25 expand completely.

24, (2y -x)* 25. (2p+3x) -
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Scanned with CamScanner

|




